Lesson A #9

Ramulu Gajavada, Samskrtam Teacher

Application of 5" declensions of nouns, pronouns.

(Ablative case endings) From, than

Nominative (singular)

d: sah =He
Al sa = She
dd_tat = That

{H: ramah = Rama
HHAH _asanam = Seat
9&: vrksah = Tree
UH: gramah = Village
1 gajah = Elephant
EARE dvipah = Island
i sita = Sita

aiﬁ devi = Devi

Hldd: dhatavah = Verbal roots,

Ablative (singular)
dtHId_ tasmat = from / than him

d&l: tasyah = from / than her
dEHId_ tasmat = from / than that
(AT ramat = from / than Rama
3MEATd asanat = from / than the seat
J&Td_vrksat = from / than the tree
YA gramat = from / than the village
IS gajat = from / than the elephant
g9 dvipat = from / than the island
Hiqm: sitayah = from / than Sita
i?qT: devyah = from / than Devi

ST kriyapadani = Verbal forms,

<Y car =tomove

Verbs (singular, present tense).

'\ .
UM carami =1 move

Fwd_cint = to think raad cintayasi = You think (2™ p sing.)

9 jap = to chant holy-names S japati = chnts (3" p sing.)

ST jiv =to live

S jivati = lives (3 p sing.)



SEEXNE udaharanani = E xamples

Nominative Ablative Verb

g AT, 3feid

budhah asanat uttisthati
The scholar gets up from the chair.

<\ ?:ri' o .

budhau asanabhyam uttisthatah
Two scholars get up from two seats.

ga: FE: 3regfea

budhah asanebhyah uttisthanti
The scholars get up from the seats.

G, 4T, Tefict

phalam vrksat patati
The fruit falls from the tree.

) gem qad:

phale vrksabhyar patatah
Two fruits fall from two trees.

FTI Jar: Tafed

phalani vrksebhyah patanti
Fruits fall from the trees.

5 T, TS

balah gramat gacchati
The boy goes from the village.

1) BItsit ) TS

balau gramabhyam  gacchatah

Two boys go from two villages.



® NSOl D=

T Y TS ed
balah gramebhyah gacchanti
Boys go from villages.

qreey: gud. ad = |
panthah dvipat dviparmh caratil
The traveler moves from island to island.

o

T T, qaid
nrpah gajat patati
The king falls from the elephant.

TSR qdd:
nrpau gajabhyarh patatah
Two kings fall from two elephants.
CRIE T gdied
nrpah gajebhyah patanti

Kings fall from the elephants.

991 prasnah = Questions

Translate the following sentences into Sarhskrtam
Krsna protects a deer from a jackal.
The king comes from the country.
A boar runs from hermitage to a hermitage.
A traveler goes from country to country.
A deer runs from an island.
A horse goes from the sea.
A messenger carries away a deer from the hermitage.
A servant gets up from the seat.



9. The son takes away the fruit from the king
10.Rama goes from Delhi city to Hyderabad city.
Translate the following sentences from Sarhskrtam into English.

1. J9: gTad gRUT  SATHTd L& |

nrpah dhavantam harinarh vyaghrat raksatil

2. BET: TR (IEd:) [Haed TTesied |

chatrah grhat (grhatah) vidyalayam gacchantil

3. Afea{d: IEHNTSIN |

mandiratah grhamagacchamil

Yldd: dhatavah = Verbal roots, TSI kriyapadani = Verbs

E’aﬁ'fg uttisth = to get-up IFABMd uttisthati = gets up, 3=g gacch = to go TS
gacchati= goes, ART=Bd agacchati = comes, 9d pat = to fall, qard patati = falls,
Y car = to move, Td carati = moves, ¥ raks= to protect, Iﬁﬂ% raksati =
protects, 919 dhav = to run, gEid dhavati = runs, ¥¥q dhavan =running, &

har = to take away, &0 harati = takes away,

FqHUZ: sabdasangrahah = Vocabulary

3TEH asanam = seat, chair, I&: vrksah = Tree, dM: gramah = Village, ¥TS1: gajah
= Elephant, & dvipah = Island, g9: budhah = Scholar, ®&H phalam = fruit, J9:
nrpah = King, 9: panthah = traveler, gRT: harinah = Deer, 3[Tle: $rgalah =
Jackal, a?e'h desah = Country, aU&: varahah = Boar,3T%H: aSramah = Hermitage,
31%: asvah = Horse, 8Hg: samudrah = Ocean, WNRH_ nagaram = City, SECY
sevakah = Servant, §: putrah = Son, @™ vyaghrah = Tiger, g/ ERUT: dhavan
harinah = running deer (nominative), e @%Um\dhavantam harinam = running

deer (accusaive), 3JEH_ grham = House, H'I'\E'{H\ Mandiram = Temple, 1%?11?&111
vidyalayam = School,



